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1. Giveng(x)=—x-3 Y
2 /
a. Graph g(x). /
/ 4
b. Graphg™(x) on the same grid. 2
/
-5 P 9 (A
2 ]
c. Algebraically determine the equation / > o
of g7(x). .
x=154-3 .
Kz = '-lz V
2(2¥3) =Y
£ 3—‘ ( X) = 27‘ f‘b
2. Graph each exponential equation.
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3. Given log4=06 and log,11~1.1, find: lom“ =/ "D.jg 8 2
a. log,66 b. logﬁ(%) c log{%)
log (6 - ) W= tey, Y Ll
v lo Y - \oj
¥ \
1§, 6 b\,&l L = b |
. \ - ‘\
[EESATY 0.S
2. — 0.l
4. Solve. Be sure to check your solutions!
a. 3.5 4+6=381 b. log, x +log,;(x+5) =log, 36
el
B (% (2+s)=log, 36
s s 23 312
(ole 2z~ i
e N T = e NI
6_ = 5 2“-‘ - 3 12_ rSx-36 = 0
24-\= 3 2= (+ Lx-ud= 0
2.0 7 X=2 A= @
*= 2 /
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5.

Mr. McCord invests $1500 in a savings account with 2.5% interest, compounded monthly.

Find the account balance after 12 years.
2 2 ‘
. !L-SZ
1500 (1 + = 26416

6.

Mrs. Long invests $5500 in a savings account with 3.8% interest, compounded
continuously. How long will it take for her account balance to double?

. T
5500 @ P = 2(s5v0)
u3ft
038 T
e = 55 2 2

038 T= ‘“w
'r’:—

037%

|nﬁ@ rees = (9.7
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7. Determine if each graphs represents a one-to-one function. 6
e
/ ——
-5
n — -
R Ve s
on&{-. Ove QA»JV‘ Uo‘f-O‘h'e{“l’Me, ]\)rl* a "anc,‘\M
8. Solve for the missing side or angle. Round to three decimal places.
a. Solve for h. b. Solve for ZM
H
L 18 ¥
15
30
L]
! h J
g
o~ h s M= 55
s$\n 3y° = —l- -\ )
\g m = ew 30
o
(5 Sn3(" = .h
8.29 M= 0.0t A
[ = h M

24.2°
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d. Solve for all missing sides/angles . : D‘Tr f -
¥ E=\80—\2 —57= §I°
d = % i 57°
Swiz  Swi g
A= 21 Sz .£- _ 2z
A Sun 8! Sinb67 7 ¢!
d= |l{'q _c,—’?:é_r \5 L3
e. Solve for all missing sides/angles. mBOD
12, 10
b= {\z’¥\b¢—zllz)(|o)MIoo' - c
b
b= (.20 (=130 007 6=

I

é. Sin A = Sen 10
o ) l6-9
I

£6 .9
BH= cn’ [r4n$) = %59
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9. Mrs. Long measures the angle of elevation from the ground to the top of a tree to be 80°.
If she is measuring this angle 12 feet from the base of the tree, find the height of the tree.

Round to three decimal places.

)l

don 1O =7
\2%- 80 =h
Lksos =

10. Find the exact value of all missing sides and angles. **HINT: Use your special right

triangles**

A
3
rB i funto= £
A"
& ‘E s
Z lo

(s b0 =
T)

(e Ceslbd ="
5=y
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11.  Draw each angle. Include an arrow representing the amount of rotation. Find the
measure of one other angle that is coterminal with the given angle. Give the quadrant of
each angle.

a. 4 radian b. -148°
(—OM"’& 1,0
0
&_ 71 &
12.  Find the exact value.
3 2 — 2% o J\ z
a. sinl35°= b csc {— = Iz - &
52
c csc300° . Z 25 g tan[——-] = Z= = ¥ 5%:
) - B 3 |
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13.  Sketch aright triangle where siné =§ and g <0 < 7. Find the exact values of the
remaining trig functions g 2, = v ©
. X = o Y= 2 X N |
VYo 5 ,(24_ q = 5
sin@ =-§— csch = % ){,"’c- l,(o
=
-4 -5
cosf = . secO = q
= -~ 3 = - i
tan6 % cot@ 3
14.  Simplify.
a. sinfcotBcosh
s b g
b » —— |
Sun

(st
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15. Find the solution set where0<6 <27

a. sin9=% ﬁ .22...
™ s
A 2

c. 2cosf+3=4 ﬂl _&_j_ d. 2cos?6 —~/3cosf =0
2o 1 T 5T Cos & (2usb~83)
wo-y > 3 Cos &= 0 s b= 3
=T v ay

o=3T% T vy,




May 18, 2018

A%
16.  Graph f(6)=—3cos2(6——%]+1
2 1r
- T [
st —Lad{ [+ L o
“N SN VTN e Ted = 5
A N —— |
N .
B IR IRE B ZEE IR NS NREZaran=amp
P T e
I 8T
wnevewent g" =

17.  Write two equations for this graph, one using sine and one using cosine.




